Belmont City College



YEAR TWELVE 2026

2026

26 B32 12 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 12th December 2025 Using "2D4C" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be delivered by the 28th January 2026 for \$8.00, if placed on or before the return date of Friday 12th December 2025.

Orders placed after the return date will incur additional charges. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR TWELVE					
	STATIONERY					
	All students are required to bring to school each day.					
P54568	2026 Diary A5 Student Week To View Spiro Cumberland	1		1	4.15	4.15
P58510	Eraser Plastic Pencil Large With Sleeve	2		2	0.40	0.80
P50451 P51685	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	3		1	1.80	1.80
P51005 P51157	Glue Stick 40gm Artline Clear	4		1	2.95	2.95
P56094	Highlighters Pkt 4 Micador ECO	5 6		1	3.85 0.35	3.85 1.40
P56095	Pen Ballpoint Cap Type Black Medium	7		4 4	0.35	1.40
P56096	Pen Ballpoint Cap Type Blue Medium Pen Ballpoint Cap Type Red Medium	8		4	0.35	1.40
P50271	Pencil (HB) Goldfaber	9		4	0.33	2.80
P56211	Pencil Case 345mm x 140mm Handy Pouch Mesh	10		1	3.95	3.95
P50208	Pencils-Coloured 12's Columbia	11		1	3.10	3.10
P56414	Ruler 300mm Plastic Clear Marbig	12		1	0.75	0.75
P56242	Sharpener Pencil Barrel Double Hole (EL)	13	<u> </u>	1	2.10	2.10
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	14	<u> </u>	1	14.05	14.05
	BUSINESS MANAGEMENT & ENTERPRISE GENERAL					
P55484	Document Wallet FC Polydoc Green	15		1	2.50	2.50
P54146	Exercise Book 225x175mm 128 Page 8mm Spirax	16		1	1.65	1.65
	CAREER & EMPLOYABILITY GENERAL					
P50510	Display Book A4 20 Pocket Mid Blue Refillable	17		1	2.35	2.35
P55497	Document Wallet FC Slimpick Red	18		2	1.10	2.20
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	19		2	1.80	3.60
	CERTIFICATE II IN ENGINEERING No specific requirements.					
	CERTIFICATE II IN HOSPITALITY No specific requirements.					
	CERTIFICATE II IN SAMPLING AND MEASUREMENT					
P56428	Safety Glasses Clear Wrap Around	20		1	6.45	6.45
	If the student still has safety glasses purchased in Year 11 or for anothe	r subject, they	do not need	to be purch	ased agai	n.
	CERTIFICATE II IN SPORT & RECREATION					
P55487	Document Wallet FC Polydoc Red	21		1	2.50	2.50
P56704	Whistle Plastic/Metal with Lanyard	22		1	8.95	8.95
	CERTIFICATE II IN WORKPLACE SKILLS No specific requirements.					
P50450	CERTIFICATE III IN BUSINESS Exercise Book A4 64 Page 8mm with Margin #106 Spirax	23		1	1.40	1.40
	CERTIFICATE III IN MUSIC A Loan Agreement form must be completed and Compulsory Hire to	fee of \$125.00) naid by stu	ıdents hirin	a school	
P52506	instruments to the Administration Office at school at the beginning Music Book A4 48 Page Ruled & Staved Spirax 243	of school ye	e <u>ar.</u>	<u>10ents mini</u> 1	2.35	2.35
. 02000	ividolo book A4 40 i age Nuleu & Staved Opilax 243	24		ı	۷.33	۷.۵۵

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	CERTIFICATE III IN SPORT, AQUATICS AND RECREATION					
P55487	Document Wallet FC Polydoc Red	25		1	2.50	2.50
P56704	Whistle Plastic/Metal with Lanyard	26		1	8.95	8.95
	CERTIFICATE III IN VISUAL ARTS					
P56115	Marker Artline #210 Black 0.6mm	27		1	3.95	3.95
P56130	Pen Felt Tip Fineliner Black	28		1	2.85	2.85
P52001	Pencil (2B) Goldfaber	29		1	0.70	0.70
P52013	Pencil (4B) Goldfaber	30		1	0.70	0.70
P51273	Pencil (4B) Progresso Aquarelle	31		1	5.00	5.00
P56681	Visual Art Diary A5 60 Sheet 110gsm	32		1	3.95	3.95
	CHEMISTRY ATAR UNITS 3 & 4					
P00469	Pearson WA Chemistry 12 (SB Print & Digital)	33		1	103.50	103.50
P35880	WA ATAR Exploring Chemistry Yr 12 (SPIRALLED) 2E [STAWA]	34		1	45.50	45.50
P30300	WA Chemistry Yr12 ATAR Study Guide (Rev Edn) [Michael Lucarelli, David Proctor]	35		1	60.00	60.00
P55285	Calculator HP Scientific HP-10s	36		1	25.95	25.95
	If the Scientific Calculator listed has been purchased for another subject	t, it doe	s not need to	be purcha	sed for C	hemistry.
	DANCE GENERAL No specific requirements.					
P55439	DESIGN GENERAL Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	37		1	9.55	9.55
. 66.66	Display Book No 20 F ooket Black insert Gover (Non-Ner)	07		·	3.00	0.00
	DRAMA ATAR No specific requirements.					
	DRAMA GENERAL No specific requirements.					
	EALD ATAR UNITS 3 & 4 Students will need to purchase two texts for the year, one for each semester. and authors early in 2026.	Your ch	ild's teacher wi	ll provide d	letails abo	ut the titles
P08188	Insight Year 12 English WA (Print & Digital) Rev	38		1	54.95	54.95
P50510	Display Book A4 20 Pocket Mid Blue Refillable	39		1	2.35	2.35
P55497	Document Wallet FC Slimpick Red	40		1	1.10	1.10
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	41		1	1.80	1.80
	EALD GENERAL UNITS 3 & 4					
P19804	English Grammar In Use (With Answers) (5E) [Murphy]	42		1	58.95	58.95
P55469	Display Book A4 20 Pocket Blue Non-Refillable	43		1	4.95	4.95
P55495	Document Wallet FC Slimpick Orange	44		1	1.10	1.10
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	45		1	1.80	1.80

Page 3

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	ECONOMICS ATAR UNITS 3 & 4					
P35446	WA ATAR Investigating Macroeconomics Yr 12 8E [Greg Parry, Steven Kemp] Required Textbook	46		1	90.00	90.00
P37185	Creelman Exam Questions Economics ATAR 3&4 2026	47		1	50.00	50.00
	New Edition for 2026		_			
	If ordered online, will be delivered in bulk to the school. Due approx. March 2026 Optional revision textbook					
P34031	WA Economics Yr12 ATAR Study Guide 3E [Andrew Tibbitt]	48		1	60.00	60.00
	Optional Revision Textbook		_			
P55285	Calculator HP Scientific HP-10s	49		1	25.95	25.95
	If the Scientific Calculator listed has been purchased for another subject		s not need	to be purcha		
P55498	Document Wallet FC Slimpick Yellow	50		2 20 par one	1.10	2.20
P54146	Exercise Book 225x175mm 128 Page 8mm Spirax	51		1	1.65	1.65
1 04140	Exercise Book 223x173Hilli 120 Fage offill Opliax	31		ļ	1.00	1.00
	ENGLISH ATAR UNITS 3 & 4					
	Students will need to purchase two texts for the year, one for each semester. Yeard authors early in 2026.	our ch	ild's teacher	will provide of	details abo	ut the titles
	Students are also encouraged to purchase a copy of Good Answers English we Published by the English Teachers Association, Good Answers English provide previous year's WACE examinations written by students in those examinations and provides analysis of questions and a range of suggestions for classroom a available until approx. May and is made available for purchase in Term Two.	es anno s. It exp	otated exam lains examir	ples of good ners' and mar	answers to kers expe	the ctations,
P08188	Insight Year 12 English WA (Print & Digital) Rev	52		1	54.95	54.95
P50510	Display Book A4 20 Pocket Mid Blue Refillable	53		1	2.35	2.35
P55492	. ,					1.10
P50451	Document Wallet FC Slimpick Blue	54		1	1.10	
P30431	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	55		1	1.80	1.80
	ENGLISH GENERAL UNITS 3 & 4					
	Students will need to purchase two texts for the year, one for each semester. Yeard authors early in 2026.	our ch	ild's teacher	will provide of	details abo	ut the titles
P50510	Display Book A4 20 Pocket Mid Blue Refillable	56		2	2.35	4.70
P55492	Document Wallet FC Slimpick Blue	57		2	1.10	2.20
P50451	•	58		2	1.10	3.60
F30431	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	30		2	1.00	3.00
	FOOD SCIENCE & TECHNOLOGY GENERAL					
	No specific requirements.					
D0.40.40	GEOGRAPHY ATAR UNITS 3 & 4					
P31940	WA ATAR Geography Units 3&4 3E [K. Bell]	59		1	76.90	76.90
P36959	Geography Good Answers 2026: A Study Guide for Yr12 Students New Edition for 2026	60		1	38.50	38.50
	If ordered online, will be delivered in bulk to the school. Due approx. March 2026					
P55285	Calculator HP Scientific HP-10s	61		1	25.95	25.95
	If the Scientific Calculator listed has been purchased for another subject	it doe	s not need	to be purcha	sed for G	eography.
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	62		4	1.80	7.20
P53351	Highlighters Pkt 4 Assorted Fluoro XL Sharpie	63	$\overline{\Box}$	1	5.50	5.50
P50208	Pencils-Coloured 12's Columbia	64		1	3.10	3.10
P56353	Protractor 10 cm 180 4" Half Circle	65		1	0.45	0.45
· · · · · ·		50	_	•	0.40	5.40
	HEALTH STUDIES GENERAL					
P55487	Document Wallet FC Polydoc Red	66		1	2.50	2.50
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	67	ä	1	1.80	1.80
	Exercise Book Att our ago offilit with Marylli #100 opilax	51	_	•	1.00	1.00

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	HUMAN BIOLOGY ATAR UNITS 3 & 4					
P13290	Human Perspectives WA ATAR 3&4 (Print & Digital) 8E [Whan et al]	68		1	91.95	91.95
	This text is compulsory for this subject					
P04787	Dot Point WACE Human Biology Year Units 3&4 [Humphreys]	69		1	49.95	49.95
	This Dot Point revision guide is optional and can be purchased at parent	and st	udent discr	etion to ass	ist with ho	-
P30301	WA Hum. Biology Yr12 ATAR Study Guide (Rev Edn) [Glenda Leslie]	70		1	60.00	60.00
	This Study Guide is optional and can be purchased at parent and student		etion to ass	ist with hom	-	
P55285	Calculator HP Scientific HP-10s	71	Ц.		25.95	25.95
	If the Scientific Calculator listed has been purchased for another subject, Biology.	it doe	s not need	to be purcha	ised for H	uman
	HUMAN BIOLOGY GENERAL UNITS 3 & 4					
P35887	WA Year12 General Human Biology WB 2E [STAWA]	72		1	45.50	45.50
P55285	Calculator HP Scientific HP-10s	73		1	25.95	25.95
	If the Scientific Calculator listed has been purchased for another subject, Human Biology	it doe	s not need	to be purcha	sed for G	eneral
P54148	Exercise Book 225x175mm 64 Page 8mm #P191 Spirax	74		4	1.15	4.60
	MATERIALS DESIGN & TECHNOLOGY: WOOD GENERAL					
	D&T/VET/SAL. Safety glasses will be provided to students. Loss or breakage w	ill incu	ır a \$5.00 re	placement fe	e.	
P55492	Document Wallet FC Slimpick Blue	75		1	1.10	1.10
	MATHS APPLICATIONS ATAR UNITS 3 & 4					
P32048	Cambridge WA Senior Maths Applications Yr12 (Print&Digital) [Jennifer Prosse et al]	er 76		1	87.95	87.95
P37188	Creelman Exam Questions Math Application ATAR 3&4 2026 [Shanahan Mooney]	77		1	50.00	50.00
	New Edition for 2026					
	If ordered online, will be delivered in bulk to the school. Due approx. March 2026					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	78		1	281.95	281.95
P55285	Calculator HP Scientific HP-10s	79		1	25.95	25.95
P58526	Document Wallet FC Slimpick Pink	80		1	1.10	1.10
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	81		2	2.25	4.50
P54137	Graph Binder Book A4 128 Page 5mm #135 Spirax	82		1	2.80	2.80
	MATHS ESSENTIALS GENERAL UNITS 3 & 4					
P32046	Cambridge WA Senior Maths Essential Yr12 (Print & Digital) [Bruce Leggett et al]	83		1	87.95	87.95
P55285	Calculator HP Scientific HP-10s	84		1	25.95	25.95
P58526	Document Wallet FC Slimpick Pink	85		1	1.10	1.10
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	86		2	2.25	4.50
P54137	Graph Binder Book A4 128 Page 5mm #135 Spirax	87		1	2.80	2.80
	MATHS METHODS ATAR UNITS 3 & 4					
P32050	Cambridge WA Senior Maths Methods Yr12 (Print&Digital) [Mark White et al]	88		1	87.95	87.95
P37189	Creelman Exam Questions Math Methods ATAR 3&4 2026 [Tim Oates] New Edition for 2026	89		1	50.00	50.00
	If ordered online, will be delivered in bulk to the school. Due approx. March 2026					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	90		1	281.95	281.95
P55285	Calculator HP Scientific HP-10s	91		1	25.95	25.95
P58526	Document Wallet FC Slimpick Pink	92		1	1.10	1.10
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	93		2	2.25	4.50
P54137	Graph Binder Book A4 128 Page 5mm #135 Spirax	94		1	2.80	2.80

Page 5

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATUS ORFOLALIST ATAR UNITS 6 6 4					
	MATHS SPECIALIST ATAR UNITS 3 & 4 The resource list for Mathematics Specialist is to be advised at a later date.					
	MODERN HISTORY GENERAL UNITS 3 & 4					
P50510	Display Book A4 20 Pocket Mid Blue Refillable	95		1	2.35	2.35
P55492	Document Wallet FC Slimpick Blue	96		2	1.10	2.20
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	97	5	2	1.80	3.60
	MUSIC					
P52506	Music Book A4 48 Page Ruled & Staved Spirax 243	98		1	2.35	2.35
	PHYSICS ATAR UNITS 3 & 4					
P36854	Pearson WA Physics 12 (SB Print & Digital) 2E [Greg Moran et al] New Edition for 2026	99		1	99.95	99.95
P37031	WA ATAR Exploring Physics Year 12 2E [STAWA]	100		1	45.50	45.50
1 07001	New Edition for 2026	100		'	45.50	45.50
	Due approx. November 2025					
P55285	Calculator HP Scientific HP-10s	101		1	25.95	25.95
	If the Scientific Calculator listed has been purchased for another subje		s not need t	to be purcha		
	PHYSICAL EDUCATION GENERAL					
P55487		100		4	2.50	2.50
P50451	Document Wallet FC Polydoc Red	102		1	2.50	2.50
P50451 P56704	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	103		1	1.80	1.80
F30704	Whistle Plastic/Metal with Lanyard	104		1	8.95	8.95
	PSYCHOLOGY ATAR UNITS 3 & 4					
P37209	WA Psychology Yr12 ATAR Textbook [Sonya Cerny]	105		1	87.50	87.50
	New Edition for 2026					
	Due approx. February 2026					
P34032	WA Psychology Yr12 ATAR Study Guide 3E [Alana Wilson]	106		1	60.00	60.00
P55285	Calculator HP Scientific HP-10s	107		1	25.95	25.95
	If the Scientific Calculator listed has been purchased for another subjection Psychology.	ect, it doe	s not need t	to be purcha	sed for	
	VISUAL ARTS GENERAL					
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	108		1	9.55	9.55
P51685	Glue Stick 40gm Artline Clear	109		1	2.95	2.95
P56115	Marker Artline #210 Black 0.6mm	110		1	3.95	3.95
P56130	Pen Felt Tip Fineliner Black	111		2	2.85	5.70
P52001	Pencil (2B) Goldfaber	112		1	0.70	0.70
P52013	Pencil (4B) Goldfaber	113	<u> </u>	1	0.70	0.70
P51273	Pencil (4B) Progresso Aquarelle	114	<u> </u>	1	5.00	5.00
	INCLUSIVE EDUCATION					
P51082	Calculator Sharp Basic EL-231	115		1	13.95	13.95
P50450	Exercise Book A4 64 Page 8mm with Margin #106 Spirax	116	5	4	1.40	5.60
	DEAF EDUCATION CENTRE No specific requirements.					

Page 6

(PRICES CORRECT AT 15/10/25)

 $\sqrt{}$ Item

Reqd

Qty

Unit

Reqd Price \$

Total

Amount \$

Item

No.

Number of Boxes ticked: Postage (Home delivery only) \$8.00 **ESTIMATED AMOUNT DUE** <u>\$</u>

Office Use

Description